8/11

=~
==

10/9

ReTh 1R i3 5 52

e 5—%310,0007T
e 55-5,0007T
e 5=%3,0007T
e M7 2,0007T
e FHK1,0007T

fEITHIR KR

10/13

=~
==

11/14

(Bl bR 52 73 AT 2%

e §—%5,0007T
e 5-%4,00075T
e £=%3,0005T

o IR R > 2,0007T/3
o {£{F2E+3 > 1,0005T/3

—

=

E

iR

FNHFE

e FMIEAL | STTEREFKMHEBERAT

o HITEN | BITHREKREMBEMA

o BERMBRITIRMNEBIRATE

o (HEAREEMNFERITHMERAZANEES
e http://www.fd.uch.edu.tw/)

FEMREH

12/13
=Py
EXKIE

T IEERNIR

BIENN285HE
sREAE o

B BRI HER
Fi0\S > IR
SR CEMHERE o
1007TiE%5/% > —
BREZ108 °

-



